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Directions for the following (4) items.

Read the following passage and answer the four
items that follow. Your answers to these items
should be based on the passage only.

Passage

Itis no longer enough for us to talk about providing
for universal access to education.

Making available schooling facilities is an essential
prerequisite, but is insufficient to ensure that all
children attend school and participate in the
learning process. The school may be there, but
children may not attend or they may drop out
after a few months. Through school and social
mapping we must address the entire gamut of
social, economic, cultural and indeed linguistic
and pedagogic issues, factors that prevent
children from weaker sections and disadvantaged
groups, as also girls from regularly attending and
complementing elementary education. The focus
must be on the poorest and most vulnerable since
these groups are the most disempowered and at
the greatest risk of violation or denial of their
right to education.

The right to education goes beyond free and
compulsory education to include quality education
for all. Quality is an integral part of the right to
education. If the education process lacks quality,
children are being denied their right. The Right of
Children to Free and Compulsory Education Act
lays down that the curriculum should provide for
learning through activities, exploration and
discovery. This places an obligation on us to
change our perception of children as passive
receivers of knowledge and to move beyond the
convention of using textbooks as the basis of
examination. The teaching-learning process must
become stress-free and amassive programme for
curricular reform should be intiated to provide for
a child-friendly learning system, that is more
relevant and empowering. Teacher accountability
systems and processes must ensure that children
are learning and that their right to learn in a child-
friendly environment is not violated. Testing and
assessment systems must be reexamined and
redesigned to ensure that these do not force
children to struggle between school and tuition
centres and bypass childhood.
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1.

According to the passage, which of the
following is /are of paramount importance
under the Right to Education ?

1. Sending of children to school by all
parents.

2. Provision of adequate
infrastructure in schools.

physical

3. Curricular reforms for developing child-
friendly learning system.

Select the correct answer using the code given
below.

(a) 1 only (b) 1 and 2 only

(c) 3 only (d) None of the above

With reference to the above passage, the
following assumptions have been made.

1. The Right to Education guarantees
teachers accountability for the learning
process of children.

2. The Right to Educétion guarantees 100%
enrolment of children in the schools.

3. The Right to Education intends to take
full advantage of demographic dividend.

Which of the above assumptions is/are

valid ?
(a) 1 only (b) 2 and 3 only

(c) 3 only (d)1, 2 and 3
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3. According to the passage, which one of the
following is critical in bringing quality in
education ?

(a) Ensuring regular attendance of children
as well as teachers in School.

(b) Giving pecuniary benefits to teachers to
motivate them.

(c) Understanding the
background of children.

socio-cultural

(d) Inculcating learning through activities and
discovery.

4. What is the essential message in this
passage.

(@) The Right to Education now is a
Fundamental Right.

(b) The Right to Education enables the
children of poor and weaker sections of
the society to attend schools.

(c) The Right to Free and Compulsory
Education should include quality education
for all.

(d) The Government as well as parents should
ensure that all children attend schools.

5. Suggest a apropriate title for a passage.
(@) Universal Education is key to success.
(b) Education a tool of empowerment.
(c) Time to Reform Education System.
(d) Paradigm shift in educational field.

Passage

Secularism according to Mahatma Gandhi is
‘equal respect, not equal disrespect, for all
religion”. My own definition is that it is a system
where transaction are conducted between
individuals are as well as between individuals and
instructions without being prejudiced by either
part’s religious beliefs and where equal opportunity
is available for every person irrespective of his or
her caste affiliations.

I will dwell on some of the salient reasons on
why we need to be secular. It is duty of the
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sovereign to protect the life and liberty of its
citizen, since every citizen has subordinated own
privilages to the sovereign. This is the fundamental
duty of the state secularism ensures the right of
every individual to seek solace and peace of mind
and to derive moral sustenance, hope and
courage from any source of his / her choice. As
every religion teaches us, God transcends all of
us and he does not have any imperfections of
humans. Thus arguing that my God is better than
other Gods is ironical.

A democracy works best in environment of
pluralism, where there is respect and freedom to
practice one’s own beliefs. For democracy to
prosper, we have to keep and open mind. A
Democracy based on such a principle will be
vibrant and enthusiastic, energize and encourage
citizen to integrate rather than create fission.

6. Which of the following statement is true
regarding secularism.

1. Secularism means to believe is no religion.
2. Secularism means following all religions.
3. Freedom of following religion of choice.
4. None of the above.

7. Choose correct statement.

1. To protect life and liberty of citizen is duty
of sovereign.

2. Citizen need to subordinate their privilage
to sovereign.

(a) Only 1 correct (b) Only 2 correct
(c) Both wrong (d) Both correct
8. Choose correct statement.
1. Democracy works best in singularism.
2. Pluralism is a form of Dictatorship.

3. Democracy thrive well in open minded
society.

4. All of the above.
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9. English Comprehension
Give meaning of word “Solace”.
1. Agony
2. Pain
3. Enthusiasm
4. Comfort.

10. English Comprehension
Give meaning of the word “Prejudice”.

1. New affirmations
2. Predefined opinions
3. Transactions of eastern countries

4. All of the above are wrong.

Passage

A diversity of natural assets will be needed to
cope with climate change and ensure productive
agriculture, forestry and fisheries. For example
crop varieties are needed that perform well under
drought, heat and farmer led process of choosing
crops favors homogeneity adapted to past or
current conditions, not varieties capable of
producing consistently high yields in warmer,
wetter or drier conditions. Accelerated breeding
programms are needed to conserve a wider pool
of genetic resources of existing crops, breeds
and their wild relatives. Relatively intact
ecosystems, such as forested catchments,
mangroves, wetlands can buffer the impacts of
climate change. Under a changing climate, these
ecosystems are themselves at risk and
management approaches will need to be more
proactive and adaptive. Connections between
natural areas, such as migration corridors, may
be needed to facilitate species movements to keep
up with the change in climate.
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1.

12.

13.

14.

With the reference to the above passage
which of the following would assist us in
coping with climate change ?

1. Conservation of natural water sources.
2. Conservation of wider gene pool.

3. Existing crop management practices.
4. Migration corridors.

Select the correct answer using the code
given below.

(@ 1,2and 3only (b) 1, 2 and 4 only
(c)3and4only (d) 1,2, 3, and 4

With reference to the above passage the
following assumptions have been made.

1. Diversification of livelihoods acts as coping
strategy for climate change.

2. Adoption of monocropping practice leads
to the extinction of plant varieties and their
wild relatives.

Which of the above assumption is / are valid ?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 or 2

Study the following statement and choose
correct option.

1. More attention should be given to hybrid
crop varieties as wild varieties serve no
more purpose.

2. Intact ecosystem can help us with stand
the challenges of climate change.

(@) 1 correct 2 wrong
(b) 2 correct 1 wrong
(c) Both 1 and 2 correct
(d) Both 1 and 2 wrong.

Give antonym for word “Accelerated”
(a) faster

(b) speeding

(c) gain momentum

(d) slack up.

1

12.

13.

14.
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15. Suggest most appropriate heading for
passage.

(a) Natural Diversity tool to tackle climate
change.

(b) Accelerated breeding program to solve
food challenge.

(c) Species movement —
a result of climate change.

(d) All of the above.

Passage

Many farmers use synthetic pesticides to kil
infesting insects. The consumption of pesticides
in some of the developed countries is touching
3000 gm / hectare. Unfortunately there are reports
that these compounds possess inherent toxicities
that endanger the health of the farm operators,
consumers and the environment. Synthetic
pesticides are generally persistent in environment.
Entering in food chain they destroy the microbial
diversity and cause ecological imbalance. Their
indiscriminate use has resulted in development
of resistance among insects to insecticides,
upsetting of balance in nature and resurgence of
treated populations. Natural pest control using
botanical pesticides is safer to the user and the
environment because they break down into
harmless compounds within hours or days in
presence of sunlight. Plants with pesticidal
properties have been in nature for millions of years
without any ill or adverse effects on the
ecosystem. They are easily decomposed by many
microbes common in most soils. They help in the
maintenance of biological diversity of predators
and the reduction of environmental contamination
and human health hazards. Botanical pesticides
formulated from plants are biodegradable and their
use in crop protection is a practical sustainable
alternative.
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16. On above passage following assumptions
have been made.

1. Synthetic pesticides should never be
used in modern agriculture.

2. One of the aims of sustainable agriculture
is to ensure minimal ecological
imbalance.

3. Botanical pesticides are more effective
as compared to synthetic pesticides.

Which assumptions is / are correct ?
(b) 2 only
(d) 1,2 and 3

(a) 1 and 2 only
(c) 1 and 3 only

17. Which statements is / are correct regarding

biopesticides ?
1. They are not hazardous to human health.
2. They are persistent in environment.

3. They are essential to maintain the
biodiversity of any ecosystem.

Select the correct answer using the code.
(b) 1 and 2 only
(d) 1, 2 and 3

(a) 1 only
(c) 1 and 3 only

18. Consider the following statement and choose

the appropriate option.

1. Synthetic pesticide upon enterning the
food chain destroy the microbial diversity
and cause ecological imbalance.

2. Thus synthetic pesticides must be
completely banned and ought not be
used in any way. .

(a) 1 correct 2 wrong
(b) 1 wrong 2 correct
(c) Both 1 and 2 correct
(d) Both 1 and 2 wrong
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19. Choose correct statement. 19.

20.

21.

22.

11

(a) Synthetic pesticides are also found in
nature.

(b) Botanical pesticides can be manufactured
in laboratories.

(c) Botanical pesticides give sustainable
option for pest control.

(d) All of the above

Which of the following words is antonym for 20.

word “indiscriminate”
(a) Haphazard

(b) Unmethodical

(c) Selective

(d) Random

How many numbers between 99 and 1000 21.

are such that the digit ‘8’ occupies the unit
place.

(a) 64
(b) 80
(c) 90
(d) 104

Examine following statements. 22.

1. All colours are pleasant.

2. Some colours are pleasant.

3. No colour is pleasant.

4. Some colours are not pleasant.

Given that statement 4 is true what can be
definitely concluded ?

(a) 1 and 2 are true
(b) 3 is true
(c) 2 is false
(d) 1 is false
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23.

24,

25,

26.

27.

12

In test Randhir obtained more marks
obtained by Kunal and Debu. The total marks
obtained by Kunal and Shankar are more
than those of Randhir. Sonal obtained more
marks than Shankar. Neha obtained more
marks than Randhir.

Who obtained highest marks.
(a) Randhir (b) Neha
(c) Sonal (d) Data inadequate

A train left Delhi for Mumbai at an average
speed of 40 km/hr. Two hours later an
express train left Delhi for Mumbai following
the train on parallel track at an average
speed of 60 km/hr.

How far from Delhi would the trains meet ?
(a) 480 km (b) 260 km
(c) 240 km (d) 120 km

There is milk sample with 50% water in it, if
1/3 of this milk is added to equal amount of
pure milk, then water in new mixture will fall
down to —

(a) 25%
(c) 35%

(b) 30%
(d) 40%

There are thirteen 2 digital consecutive odd
numbers. If 39 is the mean of the first five
such numbers, then what is the mean of all
the thirteen numbers ?

(a) 47 (b) 49
() 51 (d) 45

There are 4 horizontal and 4 vertical lines,
parallel and equidistant to one another on a
board. What is the maximum number of
rectangles and squares that can be formed ?

(a) 16 (b) 24
(c) 36 (d) 42

23.

24.

25.

26.

27.

UF U<kl H YUER BY, T 3R g A
Pl 3P W AP 3fF U g ¥ | P siie
THR B A oo 3 TR F sidr A i
€ | AFa @ e 9 e sie & | JeT @)
TR A 3w s fer ® |

¥ e sie 5w gy &2
(a) YR (b) &l
(c) wIe (d) T SR

TP el faeell @ g & g 40 km ud g
B IAEd el A @ B § | Sud 2 He
U gl Yo el 9 g & v gwieR
TIWR 60 km U<t € ) aif9d Gra § aE
gl &

fecell & fhah @ w S Y@ T v
gui et 2

(a) 480 km (b) 260 km

(c) 240 km (d) 120 km

& UF T H 50% U ¥ | T g9 qw
b1 /3 9T & A b YE gy A e
g a1 ¢ fsor | urht @) aen R e
dd &H & g 2

(a) 25% (b) 30%

(c) 35% (d) 40%

NE 2 B FAN v Gears & | afy it
Y9 Urg WEael Br wey 39 € a1 Wt oRe
&R BT TG T & 2

(a) 47 (b) 49

(c) 51 (d) 45
Udh UEWR 4 &fS 3R 4 Seafer Y@t & o
RER N AR GG & | 3719 i

fbaq ama iR @t qa o gaa 2
(a) 16 (b) 24

(c) 36 (d) 42



28. A clock strike once at 1 o'clock, twice at
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2 o'clock and thrice at 3 o’clock and so on.
If it takes 12 seconds to strike at 5 o’clock
what is the time taken by it to strike at
10 o’clock ?

(a) 20 seconds
(b) 24 seconds
(c) 28 seconds
(d) 30 seconds

Suppose average weight of 9 persons is
50 kg. The average weight of the first
5 persons is 45 kg. Whereas, the average
weight of the last 5 persons is 55 kg. Then
the weight of the 5th person will be —

(a) 45 kg (b) 47.5 kg
(c) 50 kg (d) 52.5 kg

Gopal bought a cell phone and sold it to
Ram at 10% profit. Then Ram wanted to sell
it back to Gopal at 10% loss. What will be
Gopal's position, if he agreed ?

(@) Neither loss or gain
(b) Loss 1%

(c) Gain 1%

(d) Gain 0.5%

15 students failed in a class of 52. After
removing the names of failed students a merit
order list has been prepared in which the
position of Ramesh is 22nd from the top.
What is his position from the bottom ?

(a) 18th
(b) 17th
(c) 16th
(d) 15th
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Four tests— Physics, Chemistry, Mathematics
and Biology are to be conducted on four
consecutive days, not necessarily in the
same order. The Physics test is held before
the test which is conducted after Biology,
Chemistry is conducted exactly after two tests
are held. Which is the last test held ?

(b) Biology
(d) Chemistry

(a) Physics
(c) Mathematics

If second and fourth Saturdays and all the
Sundays are taken as only holidays for an
office. What would be the minimum number
of possible working days of any month or
any year ?

(a) 23
(c) 21

(b) 22
(d) 20

The sum of income of A and B is more than
that of C and D taken together. The sum of
income of A and C is the same as that or B
and D taken together moreover A earns half
as much as the sum of the income of B and
D. Whose income is the highest ?

(@) A (b) B
() C (d) D

The age of Mr. X last year was the square
of number and it would be the cube of a
number next year. What is the least number
of years he must wait for his age to become
the cube of number again.

(a) 42 (b) 38
(c) 25 (d) 16

P works thrice as fast as Q. Whereas P and
Q together can work four times as fast as R.
If P, Q and R together work on a job in what
ratio should they share the earning ?

(@) 3:1:1 (b) 3:2:4
(c)4:3:4 (d)3:1:4
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A bag contains 20 balls. 8 balls green,
7 white and 5 red. What is minimum number
of balls that must be picked up from the bag
blindfolded (without replacing any of it) to be
assured of picking at least one ball of each
colour.

(a) 17
(c) 13

(b) 16
(d) 11

If 2 boys and 2 girls are to be arranged in
a row so that the girl are not next to each
other. How many possible arrangement are
there ?
(a) 3

(c) 12

(b) 6
(d) 24

Outer surface of a 4 cm x 4 cm x 4 cm cube
is painted completly red. It is sliced parallel
to faces to yield 64, 1 cm x 1 cm x 1 cm
small cubes. How many small cubes do not
have painted face ?

(a) 8 (b) 16
(c) 24 (d) 36

In certain code 256 means “red colour
chalk”, 589 means “green colour flower”,
254 means “white colour chalk”. The digit in
the code that indicates “white” is —

(a) 2 (b) 4
(c) 5 (d) 8
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